1. Question: What is the synonym of 'Incite'?

A) Deceive
B) Permit
C) Urge

D) Instigate

Answer: C) Urge

Explanation: Incite (Verb) English Meaning: Encourage or stir up (violent or unlawful behaviour)
Bangla Meaning: S@66/S@Re FAT, WEET; SHIf (M8TT; Shig ST

2. Question: What is the antonym of '"Honorary'?

A) Official

B) Honorable

C) Literary

D) Salaried

Answer: A) Official

Explanation: Honorary (Adjective) English Meaning: Conferred as an honour, without the usual
requirements or functions. Bangla Meaning: Si@e(«s, SeHIS6F; NPATS

3. Question: What is the verb of the word 'Ability'?

A) Ableness

B) Able

C) Ably

D) Enable

Answer: B) Able

Explanation: Ability 31 STT(; S| Enable 31X STHs FA1; Twa FA11 Ably 31X THNe1F Yo7 |
Able % (T % FA08 T TH |

4. Question: Who is the poet of the 'Victorian Age'?

A) Helen Keller
B) Mathew Arnold



C) Shakespeare
D) Robert Browning

Answer: D) Robert Browning

Explanation: 33 @E‘TN - Matthew Arnold, Robert Browning Poetry written in England during
the reign of Queen Victoria (1837-1901) may be referred to as Victorian poetry

5. Question: Who is the author of 'For Whom the Bell Tolls'?

A) Charles Dickens
B) Homer

C) Lord Tennyson

D) Ernest Hemingway

Answer: D) Ernest Hemingway

Explanation: - For Whom the Bell Tolls is a Novel by Ernest Hemingway. - He wrote this, after
he returned from the Spanish Civil War, where he had been a journalist. - The plot of the novel
is based on his experience there

6. Question: Fill in the blank 'He has assured me safety.’

A) with
B) at
C) for
D) of

Answer: D) of

Explanation: Be assured of something English Meaning: if you are assured of something, you
will definitely get it or achieve it. Example Sentence: His victory means that he is now assured of
a place in the final. Source: Longman Dictionary @43 So&EF I35 Wﬁ T of IHNE|

7. Question: 'May Allah help you' What kind of sentence is this?

A) Exclamatory
B) Imperative
C) Assertive

D) Optative



Answer: D) Optative

Explanation: (T Sentence 1aT 3 3% 31 A1 F41 3T ©IF Optative Sentence T NYTHEH
JE ICT | (TFA: 1. AR (ST W57 FFF - May Allah bless you. 2. IRATWT SIS 38F - live
long Bangladesh.

8. Question: A rolling stone gathers no moss. What 'rolling’ is?

A) Gerund

B) Verbal noun
C) Adjective
D) Participle

Answer: A) Gerund

Explanation: Verb 93 ST ing (15T T % adjective A7 F151 F@ IXT8 Verb 3 adjective 95 F151
F(E, ©OIRE O present participle 71 ECT: present participle = Verb+ing = adjective =
Verb-adjective. Present participle BT 559 sense (IR a2 I rolling *%fb noun (stone) (F
modify @1 ©12 afb %32 S Verb 8 adjective 97 F18 FE® |

9. Question: 'He has beenill Friday last' fill in the blank.

A) On
B) In

C) From
D) Since

Answer: D) Since

Explanation: Since 99 F53%1&2 Point of time 97 & since 071 Point of time (% (518 I3 &
9%, 73, fod Fonf ST 953 Q1T ST FAT I I/ (BT 3 T WG T & |

10. Question: Which is the noun form of the word 'beautiful'?

A) Beauteous

B) Beautify

C) Beautifully

D) Beauty

Answer: D) Beauty



Explanation: - Beautiful *=f6 2% adjective form. - =68 noun form @ beauty. - 1T IRAT 3N
i |

11. Question: 'Hold water' means-

A) Keep water
B) Drink water
C) Store water
D) Bear examination

Answer: The correct answer is C) Store water.

Explanation: Hold Water (Phrase) English Meaning: (of a statement, theory, or line of
reasoning) appear to be valid, sound, or reasonable / to stand up under criticism or analysis.

12. Question: 'Out and Out' means-

A) Not at all

B) Man of outside
C) To be last

D) Thoroughly

Answer: D) Thoroughly
Explanation: Out and Out (Adjective) English Meaning: In every respect; absolute. Synonym:

utter, downright, thoroughgoing, absolute, complete, thorough, through and through, total,
unmitigated, outright

13. Question: Choose the correct sentence-

A) Rich is not always happy

B) The rich is not always happy
C) The rich is not happy always
D) The rich are not always happy

Answer: D) The rich are not always happy

Explanation: The rich 3@ 9361 %8 community (& (IRNET T@® (@6 plural. B2 T ST
ST The rich are not always happy 16 S|



14. Question: Choose the correct sentence -

A) He had been hunged for murder
B) He has been hunged for murder
C) He was hunged of murder
D) He was hanged for murder

Answer: D) He was hanged for murder

Explanation: - Hang S (W31 S A7 past form 8 past participle form =¥ hanged| - SafF,
Hang (311 ﬁ?‘{w?ﬂ I T S A7 past form 3 past participle form =¥ Hung| - B12 HifY
w3 I I3 F TF @&- He was hanged for murder.

15. Question: 'Syntax' means -

A) Manner of speech

B) Synchronizing act

C) Supplementary tax

D) Sentence building

Answer: D) Sentence building

Explanation: Syntax: The arrangement of words and phrases to create well-formed sentences
in a language. Morphology: The study of the forms of words, in particular inflected forms.

16. Question: 'Justice delayed is justice denied' was stated by -

A) Disraeli

B) Emerson

C) Shakespeare

D) Gladstone

Answer: A) Disraeli

Explanation: William Ewart Gladstone is a former Prime Minister of the United Kingdom. His
famous quote about the judiciary is 'Justice delayed is justice denied.' Source: Britannica

17. Question: "FFTST ST& (57 S 71" *[AT3 T e |

A) ST



B) Sirqry
C) faramsy
D) &

Answer: B) ard™

Explanation: @15 SNI&E Jfe (7 SIRTE 4% - NG S1FF

18. Question: AN O -

A) SEEF FE
B) fAge &

C) SHTFT Fd FE
D) &S FE
Answer: A) IN@EF FE@

Explanation: ST & G, e, IFMEF 0T AF TSI AXTTF AR ANF AFEF 0T 9F
N I T AP0 T@d T4 SO A FINE JAT J¢ |

19. Question: X' a7 afe -

A) RS
B) *rTE
C) fay
D) anfwey

Answer: B) %

Explanation: « "X @a W@ 41: - NIl - alfuey, - G377, - ©T%4, - O, - M6, - AR, - &7,
- 31 FeNM | O] IR ST JFFF, FIN-TH (A |

20. Question: 'G5 ag I -

A) I

B) S1I&T

C) faolme

D) ST {187 (7T

Answer: B) SEHT



Explanation: 91560 ITSTHTAGA S - STeTT 41a1 "SIy SRrST IR o - Fo TS ‘ARG
ST FEIHTANGA 91X - SIFeT P! ‘ANET SGF' IEHANGT A% - 703f& [S3T: SH-FHT, T. 7R

]

21. Question: @0 B8%7?

INISISER)]
B) CTISwelvoT
C) ¢Tioverel
D) G5y

Answer: B) GTiSierer

Explanation: 8% 11 CTE@ (T o) 97 91X S[S ©1F I A6, Furslae, swel, FewE
[SS5T: ST e AFSHT, TRAT IFTSH]

22. Question: (I @NFIF T (FIA6?

A) 1T 8 HIfReY
B) ¥4l

C) BT
D) SIR@E AT

Answer: A) 1T 8 W2 ey

Explanation: STiRfe1F, Fr@e!, TS FEF A32 J191 SR 3 NAF AEFT ACEIAET Ao
ARFS (@ @EIR S Vo AEH » FETTT T S FOTFR ITF I85e NI 26 (A3
A% NI e S AHAE|

23. Question: IR S FAOF ©FT T F?
A) 35T SEIEETT

B) smdow a3

C) 39a64 fAwTsTrsTa

D) RSt s Fe!

Answer: A) T35 SETTETT

Explanation: - Ik SifsafIera s RRoE afdfte [t swae!| - fofa smgfas anren
TSP 543 3 T FI| - FIAGA ST AR sHI6N (SIFF A TAETS S FE |
- NTAWTS5HET, F5Tal 2oy (SIS bmae! aibe F135 |




24. Question: @06 BF JF?

A) a6 87 FT JfT

B) 935G (soie 7 qfeT
C) a3fB (srster F7 Ifer
D) AT (ST FT T

Answer: D) 6T (STPTAIE F27 Ifer

Explanation: 3% I35 - TAT FIEHH ST | AF TS @@ AFH (STAAF F7 371 Faer
ST 7| T35z S-S, T. TS AW

25. Question: FREE" - 97 TNF % (FAHG?

A) ford

B) I

C) Howl

D) SwIeTE

Answer: B) 33y

Explanation: FRI6TR (RTT¥5) ©u 1921, T S| TUIBTH - NUIbTae [S3¥: Ao TRT NS,
JRAT PTG ]

26. Question: "X - a7 fITHCINF = (FHG?

A) T

B) f~1¥

C) fasm

D) Te%

Answer: A) féT

Explanation: F&¥ 31X - S61fs, 4T, foreaas 1@, Festfger S o - Sewg, fFa, sfms
T ATCISTE KA - 97 [TARE 7= 'To7F [G3F: NfaF IRAT ATSHS, TRAT AFS]

27. Question: "FNF (AT - A7 JFT REEGA=-

A) I



B) et
C) 1
D) %

Answer: A) FJ189

Explanation: S (IT5T5 - HHX PRI (JT5T - SFRITE TICEEF (FT5T - HINE FNI@F (F16T -
HeTTTR [SS5T: TR ST 8 SR s, ©. TS J2W]

28. Question: __ CTCHT g sTg=e1 fAas| &r7 I S|

A) ¢
B) b
C) so
D) v

Answer: A) ¢

Explanation: - ¢ S« : {4 ST a3y - 9 s : f3g 7% 3w - v (7697« g igaer fwast - s
CEFF : IRSINoF SO AT 35| (Fa: ST SFINZG)

29. Question: '(¥%] 5fFe’ 9@ Iof@-

A) 2T A TR
B) G11: I5P0eAR

C) T. 3z 2T

B)RIRGICIRICESEEY]

Answer: A) 327" AT RS

Explanation: (AW BN AT (SBUB-5d0Y) - TRAF, IO, 2TANNHE | ST T3 -
STRSTST 3 ST, - (NI%] 5, - SN 5@ | T3 RAASAN|

30. Question: "INF (WA ABAHTOT T¥TT IR @ IoTo]-

A) 2T A TR
B) T. W MRIqER
C) Jre1es T2

D) I Fey5{q SR
Answer: A) 323" AT R



Explanation: SR (72T ST d TP T4 (Adby) 36T F6fAeT AT Fosjd szl - aft aFfe
SSSITA FeTF F3| S HeAS[F AT Ao© ASANS [SIIF AEHIG 5% XE: ‘CNE IRAT (NF PR
(5299) | - AFASITA — AHFT|

31. Question: Y TfRterT ATElT (T2-

A) eFot4 IF
B) (MiFe F1St
C) et 2
D) 139 RIS

Answer: A) ®59t% 13

Explanation: - (MTeTd! ¥ 31 ¥ Mfzed sblaes, i, (19 8 M¥F 37 HfF7 STRAFAR| - 7@7T
ORI B 7 2O S NIRRT FHeN FI| - HIF TIATAR AT AFE Sod 2@ 1% TS|

32. Question: '5I5T FIRAF (FTNF-

A) BT TR 35
B) T AXCM
C) M8Fw SN
D) &13w [SeaT Sl

Answer: A) T35 5T 35

Explanation: 3573w 3[5ed1 Sl AF6e 18T sTifRfera 8 Frpfam fetera| - fsfer o F1fRata oy
fACNeIE S9ET| - BIF [F27S FHAFRAT: - (W07 FA@OT, - ST TP |

33. Question: fTefege ™ 8 MY ICT-

A) =

B) F19F

C) frarm

D) s

Answer: C) f&317™m

Explanation: e I =@ 7w 36| A 970 Afeft T Refee | (@91 = [Fefe (@1 117
1 T <T@ o7 fRefe Q@ | B35z IR O 8 TiRes B@I-T. Gfda Crad



34. Question: IS SRET T8I TAHE-
INEIEL1S7)

B) FSET 25T

C) O EArR$9

D) 5%

Answer: A) N6

Explanation: SiF® SHaSiG 350U AMSAF ST | AT G106 3T |

35. Question: BIETH 375 $3% 0T TSI b,000 BIF THCTHT S PRI 51 (@ ST AT S
PRI BIET TOH 5 F97?

A) ato BIFT
B) 900 BIFT
C) a¢ BT

D) 9zo BIFT

Answer: B) 900 G157

Explanation: Soo TIFIT F b2 BIFT S BIFIT FE /500 BIFT booo HIFH I (S X booo)/Soo =
930 BIFT S PR AT Soo (Ff BIFTR Wil 930 BIFT

36. Question: 936 AFOIFF (F@F W [FIET © 89| W 8w HB1F 2@, (FafGd AT Fo?

A) > oF
B) v88 61T
C) u8 i
D) sxb oE

Answer: B) 88 fi61F
Explanation: (W1 3tz (05 =8 fIGIF .°. fR91F= 8v/@ = & GIF| .°. AfFH = 3(8v+50) FIGE =
2y B

37. Question: 3 TG So .1 972 ¥ TB1F S¢ 3.5, (@r 953 T (U@ TSR N FIIAT IETI
F So.50 NG T 971 ¥ 5.80 MAlAGT ST TRPNT (et | TSI FSTTF T (A ASTRIA G
Fo .72



A) 3o ff
B) x¢ fFf¥
C) v f&for
D) sa ff3r

Answer: B) 3¢ f3f¥

Explanation: ¥ S187TRIF ae=x fF./. .". ¥ 97 97 AM1= x/s0 TBT =Yox/so G =ux WG| %
A ST NT = x/15 FbT = Gox/s¢ Bt =8x RHfeG| ¥ IFELH= vo0.50-5.80 =wo ffeG .. ux -
wo= 8x JT,LX -8x = wo AT IX=o .".x=5¢ fF. 1. IR, FSIAT TSIF T (I FNRIF 777 v¢ F.fL.
38. Question: 3, 9w, @S, 9, TTF6! N2 Fo?

A) v

B) 535

C) »¥

D) »»

Answer: B) b3

Explanation: AT > + %8 = V0 WO + 58 +8 =S S + S +8 =99 Q© + 3 + 8 =D

39. Question: %6 @6 TCT TG TI= GG TN ©IF (TGS F5 GG FETN A2 (N6 SPGA
AEF (AT MGG 2N 92 TEH FOO F6 IANSH (2

A) 8 I
B) ¢ &l
C)x o
D) v &

Answer: B) ¢ &«
Explanation: &f¥ sG55 I1G6 23 x 5 F6 ANGb 27 3x/2 T (b S2@6 1067 TEF (@1T A6 27

TS, X + (3x/2) + 5 =10 A, (2x + 3x))2 =10 -5, 5x/2 =5 .. x = 2 & .". T GG 2 =
(3x2)/2 = 3 &

40. Question: 936 IR SfT 7S (TF b,¢80 Fb SRS THE©Y FE| F e IF ROIF ©
(TFS A THSGH 1 BA© M| T 516 3 CTEE dsoo Fo| % T [97 $97?

A) 03¢ Hb
B) Sva¢ Hb



C) $»9¢ §b
D) 3¢ Hb

Answer: B) Sv9¢ b

Explanation: &3, %5337 7% = x G x FE1E (I© JEGF T 16T x/5¢80 (FS x FIGE arfe
*@F ST AT X/SSoo (PRI TIN(9, (X/5E80) + (X/Sdoo) =0 T, (¢X + 9X)/9900 = @ JT,5IX = @ X
9900 JT, HSIX = 39Y00 JT, X = WH00/5 T, X = SR

41. Question: a-{a-(a+ 1)} =397
A)a-1

B) 1

C)a

D)a+1

Answer: A)a- 1

Explanation:a-{a-(a+1)}=a-{a-a-1}=a-(-1)=a+1

42. Question: 936 "M@ 7Y 3 MV SIS ¢33 | If0 =Tfey SCTHT & =

A) 58 oo
B) b foibrE
C) So feibrE
D) 8 febra

Answer: B) b fiibrg

Explanation: &fS, 7% = ¢3 01, *fd = 33 017 ", (FxF = & R T, 0F = b FBF .. F =21
BT .. oot =farer = 3xx = 8 61T

43. Question: F-37 (oA ¥-17 (FoF ACH] 0Fd] ©¢ 5IF @ @ -7 (Fod F-97 (Fod ACTH
FO LIFT FH?

A) X9 5131
B) x¢.¢o BIFT
C) 8o BrT
D) 2¢.»w B3]

Answer: B) X¢.¢o BIFT



Explanation: ¥ 5 (94 Yoo BIF] F A7 (O $0¢ BIFT S0t BIFIT ¥ 97 (Jod I 0t GIFT ORI ¥
97 (Fod IH 0/50¢ BIFT .. Soo BIFT (o FH (WExH00)/50¢ = X¢.5© BIFT

44. Question: Sofb AT (FTTHT 8L | AT ¥ b TAH 5TG ¢} 933 CTAF ¢foF T TG
Y| TPN R F©?

A) Yo
B) ¢o
C) &3
D) u8

Answer: B) ¢o

Explanation: 2% 8f6a 5TG ¢z 7% 80 :ama s™f8 = 8 x ¢} = 20 (TH¢fBF M 7% wb 1 ¢f6
AT TG = ¢ X 0k = vDo .". 6 MANT Y = (0% + $D0) = @Y .". TPY RN = 8L - VOV
= u8

45. Question: 9% fGE TN F© 2(P?

A) ©a.0> 3%

B) wv.aq 3%

C) ©».89 3%

D) ©».99 3%

Answer: B) @v.a¢ 3%

Explanation: sjazs fSiG1F = Soo (SR SRIGIE = 05,09 3f%

46. Question: 936 J@F I I0 r (¥F (@ F@ r + n FA1 2T, ©F OF (Fam (587271 r 97
A P72

A)V[2(n+1)]

B) n+2

C) V(2n)

D) n/(N2-1)

Answer: A) V[2(n+1)]

Explanation: I r X6 06T (Fa%HeT = 11r2 IS (n + r) T J&F Gana = m(n +r)2 5.2 X T2 =
T(N+r)2 =2 x 2= (n+ 12 =N2r=n+r=\2r-r=n=r(N2-1)=n.".r = n/(N2-1)



47. Question: (15 + 15 x 15)/(15 + 15 97 15) = F©? 122 225 1225 125 Show 5T FCIG FFa
&eIEG 225

Answer: B) 225

Explanation: =: (15 + 15 x 15)/(15 + 15 a7 15) = F&? SNETA: (15 + 15 x 15)/(15 + 15 97 15) =
(1 x 15)/(15 + 225) = 15 /(15/225) = 15/(1/15) = (15 x 15) = 225

48. Question: (x + 3)(x - 3) (& x2 - 6 W@ BTT FIE SHTT F© I?

A) -6
B) 3
C)6
D) -3

Answer: B) 3

Explanation: ((x + 3)(x - 3))/(x?-6) = (x*-9)/(x*-6) = (x*-6 - 3)/(x*-6) = {(x?- 6) - 3}/(x* 6) = -
3fTFT (x+3)(x-3)=x2-9%x2-6)x2-9 (1 X2 -6 - -39 =-3

49. Question: a3-b3 =513 AR a-b = 32F, ©F ab 47 A H F©7?

A) 55
B) 35
C)45
D) 54

Answer: A) 55
Explanation: a3-b3=(a-b)*+3ab(a-b) =513=33+3ab(3) =9ab=513-27=486 .".ab=54

50. Question: [TF5(@ =fF q7 NFTF AT I T TSI JINoT FAT XE ] ST 9fe IsF@a
eTF 12 20 36 | BC =6, CF=5 %5, DE=?

YN &
B) 53 %b
C)3o Fb
D) sb R =G Tifee a1 @™



Answer: This question has been canceled.

Explanation: 736 Jifee $a7 2@®

51. Question: 3 BT 5S¢ RIfAGT 9T 5617 F167 8 HAAGT FHE A& Fo B (@1 T 7T 37?
A) xw©°

B) v.¢°

C) 30°

D) 23.¢°

Answer: B) x9.¢°

Explanation: BT FETST (FTT = [(5S X $C - Yo X 3)/31° = [(SGE - $30)/31° =[8E/3 1° =33.¢°

52. Question: IRTCTT JTOIT TOIFH AT TS F©?

A)d: ¢
B) Sy 19
C)v:y
D)so: Yy

Answer: B) 551 9

Explanation: STeTT f3f& (5»93) JIE SIS TOFIH F2 7T NG SIS A3 So0:b I AISFH,
©I® AFE TS RCTF NN 936 7T F3| 1 Jod I 2@ ToIF1F (N6 GElhd aF-FP:|
A1, TOIFIF (7eff, o3 AJR 1T JLBF FAF IPIS = b0 1 b 1 X = ¢ : 0 1 5| Tz IRAATAT

53. Question: IRATWCTT FZN Jal (FAG2?

A) T
B) =ra
C) IH9a
D) (T

Answer: B) TH1

Explanation: - IRACTE TE SN, 20, I A3 TOIFSN Jal (]| - (N AT Io17 IRG©
(Non-Himalayan) 5| - (E[=1 3[e® S[A, {7, F507@, AT 3 S7H fifere (Tresmar| Tew:
IRAFHEHT; QI 8 ST, qIH-77 Cafef|



54. Question: (FT (Sl QT STF Tefy TAGE (I T2

A) TSR

B) Hfawa

C) k7

D) IeTE =AfS Ifes Fa71 2@ =

Answer: The question has been canceled.

Explanation: =6 ifed Fa71 2@®

55. Question: XTI WET FIEHE-

A) SECTIES (ot
B) f?dd

C) acferay

D) fSre swTst

Answer: C) aGnferay

Explanation: - 3SR3T N 3 sT(a T FIGTE JCEAT I ST 3T AP SHT| - RO ST
S AREEET AT TF9 FE| - IRTECT FREE ST TEF A& 2SI SET FIE NIEF
@ =3

56. Question: IS aF{G-

A) 936 A @A ae
B) a%fb (% FTEFT A1

C) 236 @F F1IEF oA
D) S:qm% R3S 1

Answer: D) St RI3F 91
Explanation: - I (IRTT WA 523T) IRCTR STS1 WA 73| - A% S TETF S S
AfSfP® 2F1 - 97 TTE7EH TIFIH T o A58 | - BIF] Fote 97 ARS i M I

FAW| - I FTOTe SN IR AT SRFF M 28T, 27 i SENRTET| (SXF5as I
SIINRE)

57. Question: FRACTCT 7317 I@SI4T 3 fere 23~



A) 26 6

B) vy fGoTEd
C) xS (M
D) v8 fooEa

Answer: A) 34 JT6

Explanation: IRTNCT Afe3%4 b8 fETEa 1Rw Ffadiat masy Mfere 281 $»9s TEF 93 fae
TFIET AT AT IR e o0 Tema IFF[FTeend 2oy FE|

58. Question: IRTAMWCTH (F1 INGH *NAJEH Fiely fI2ATO?

A) ETGR Foref

B) ST} GBS T Qi

C) AT, IR 8 TRITAR I
D) S8 8 N I

Answer: A) SETGT FTof

Explanation: IRTNTCTE TS TS FRIT o119 TaJe & Iq, FRIF Haz[3 43
oI TaYF JEFF A 3 ST T (A& IAG [ () A2 foed ST ST F71 7|

59. Question: Sid- FRECT BTaT CTQ- AT ST G-

A) BT 2@ g 351 fgo a1

B) IR 3 Sl &y 7 13 I 58 FAT

C) DIF1-ANfIAET (AN IR SAGETT BT FAE]

D) (0T Wizpel AFETF ST BRI A2 T3] SF© P

Answer: B) IRTPT 8 ST & ST 313 I3 (T F41

Explanation: Si&- IRe0T (78T (Tg-S foVs{Tterd T 2R (FATI51S TS 8 ©IF A6t ATAHH
N[F BIP] RE AT F© TER| AR (g G- FRNGE I FEM®| IS AT Tafos 4741

60. Question: FTYE (o AfIg© 2~

A) 5589 ST

B) v»v8 S
C) S>Ba T
D) So% b NI



Answer: A) >89 ST - If3F TaF (A)

Explanation: IRE0T NI (S5a AMNAFO 2T bbb W SNEGH 2FIE | 5919 W& 92
(ST afb (Y (7 ST BFF FIEEN IR (ST arsfal FE&| S5z IR

61. Question: FBEF T9f6 &F?

A) RS 21T
B) =ifdma e
C) NS Frama

D) GIB%T AT

Answer: A) TR 21

Explanation: RrS@a 35116 JI%T TR | ©TF (of FE ARSI A1 | 4o fSoR FEH,
oV FTee 11 e s fEoR Fae TES AR A [GoR ST S tefd Fa0e TE|

62. Question: IRTAT@ET (FH (ST TIGEE @ NG T357F 2?

A) 7T

B) TN
C) Bronze
D) ®famea

Answer: C) b3«

Explanation: 2054 ST 6@ STe1¥ AT T3 (FF FAT 27| NIAARE-GIFT-FMET (S@ Mo
37 FE1 27| ©F, IFPSNF =6 TSI (STl RN J2a (ST BIRTIR | o716 T T (7 ©F® A3
G NS T (7T IR

63. Question: IRTWET (NG AT ST TAFHT T Fo?
A) X (F16 80 TF 9FF

B) X (1 o F aFF

C)x &It 9%

D) : (316 ¢ 755 aF9 =9f5 Tifed Fa7 3@®

Answer: B) X (F1f6 ¢o 7% aFd

Explanation: 96 ifed Fa7 2@®



64. Question: TP ® IRATCTE ANATSF LA F67?

A) x¢o FHFIET A2
B) So SABEIE FRe
C) 3¢ AHFITT N3eT
D) Y00 FGEHT AT

Answer: A) X¢o FGIT A2

Explanation: - TR 8 SEed Y IRATTCIR WW%@H oS R8T IRAET L, 08, boe
FSIBENRNGIR (GG T3, - b3 ACFIIT F1RT FOAOP FAWIHA, - Y00 AT A3 9F%=a
TNAGF AP,

65. Question: NXFIFTG (FTF TN BIF AIFO?

A) TR

B) s

C) a=a7a

D) ®stom 1

Answer: A) JRTq-]

Explanation: - T2IEE5TG FA@AT T1T OIF A6 | AT, - ToTHT T ©IF FFTTTE a3
TAPRE (S TS| - STOTR TNT O FTA 127 TAFO | - G 4f T Ol AW T
ST | (OXS@: IRIHGI)

66. Question: Iy Jfod THTT ST (M-

A) R Frfema T FIeHTE TI2E 185 FAT
B) 33 g (WA FEATEE I fAfee Far
C) 33y g (wAF Frasfema SnfaFa w3y

D) FIIFEAT I FfoFa ITY 536 I5 I

Answer: B) 33 fi@ (7T FEWER 33 e Fa1

Explanation: STSIT 334 TS 205b I, 73, (SO, HfoFd, [ATHaIZa, FICTEHR6
(counterfeit), FITAES (misbranded) 8 T 3T 8 (Ao fGoRY JFe, [TFT 3 [Foga
fof¥s FaT1 932 STTFT FHAPNST Iy A TSI GRS Y Taa FAF 733 TEY T@® |




67. Question: F@as -

A) a6 hite T afedmag am
B) 3G W™ N7 AT

C) a3fG fFTNE Ho forma
D) 236 o1 Ry sisra

Answer: D) 936 o1 T 52317 a1

Explanation: ®IoT& NfeHaF FoMmIT 93 AYAF 3 IR STl 7T STH0T IR TTFH
4598 ST STOIT TIGT R IR 539 AFTE IR ZAFEHSE 917 =By (Rrenkaw) afesm
AP FE|

68. Question: T 3 Nfa" FET-

A) 935 SIS A1

B) a6 s fRgd o

C) a6 ST 1 8 (@F 5T F1R2A

D) 236 FieT afs@fEe o

Answer: C) a6 sIfIT 31 8 (N@F 51 F1f2AT

Explanation: 3T e (STSFTT 27 936 HHI RATICHR J13| Ja: FII6 STeIT Wi TfadT

69. Question: Bl 'THEIT -97 ISHF F1H-

A) STTTaTT
B) &I

C) =Ife3T
D) et

Answer: A) STET&MT

Explanation: STBIF J(T IRAT (FT 955 I NS AW/ATS &2 11 IRAR ST T S IAFSE
(®16 (206 ¥ [Foe | (F0a- I3, TEY, 5, Wes, b-4aT, 2, qb 2evl

70. Question: ABHGF WMATF & 72777 (IAEA) -9 9 wIF-

A) (@1
B) I«
C) el



D) fe@an
Answer: D) fo@ar

Explanation: @16 afIF <& 2737 (IAEA- International Atomic Energy Agency) afefde
SDEI | « ST TaawgS AFTAH fS@NT AIFFe | « A6 200¢ T S (FET JTHE o
PEFI

71. Question: STEF MG A1~

A) CTrET

B) ettt
C) (@016
D) SI&G

Answer: C) (416

Explanation: - ST aFF1E 936 TFe (W1 - ST SR (77 I91 77| - AT SR N
A TIFG| - ST TSIHA- TG | - AT FITFF THH- AR | - ST oA TH6
AIFROT

72. Question: SCRFIE AT (VF J8F FER (1A TTA?

A) GifEeT
B) &

C) f&arbE
D) (&faR

Answer: C) f&artE

Explanation: - (3fF: genfe : af¥37 (Y@ ACEFE J¥F FE®R| - IR JEIR TN : N1 (3@
AP T FEA®| - A TN : SN (N FEENE NS FE®| - T Fenfer : A
(A RCETIE NF FE@| (SAPa2 SITE IGeA)

73. Question: NS FET (GCIFTTIA -

A) SHATET SRIST

B) 15 s

C) ST N

D) e FcET 736 Fifes Fa1 2@q™



Answer: A) (ST SJRIST

Explanation: 96 Fifed Fa1 2@®

74. Question: IARBFHGF FFET 937 7fre =3-

A) a TR
B) » M6
C) x> (o

D) ¢ gt
Answer: A) 9 ?5?1’13

Explanation: - ¢ 33 : {37 SR f0as - o 716 : g Fanendt 5=t - 32 (1 : sgeifes Siatafeay fas
- 54 (EHTA : IRSTSF SIS FHT Mas | (Fa: ST STITRE)

75. Question: Sfew:¥ fMay Mo z3-

A) 38 J(&FF
B) 18 SIISTG
C) 18 g
D) 38 AT

Answer: A) 38 J(egd

Explanation: - 8¢ MIFF b T JSANZT TABIHHE NS SMONT T ¢ofb (77 IFd FE| - 4
Sam FIAFT TT V8¢ TEF 38 AERI | I35 28 (BT Afodnd Sy Mas Tfere 27| -
OIICHNCERKELRE R G € E AT ICRRI GG Dl o)

76. Question: AR ISEHI-

A) FETY

B) @AT®

C) faif==T

D) 53523

Answer: D) 335323

Explanation: - M7 7i3ef-365 AMHFIT ANGANGF FIHEET SIFFor IF0 (@1 (W6 S b8
STIET (A 595D ST 517G S ST fRewf| - 520 s 77 & svas@eawa ot ReE &t
B (T AR wfzper AT TN 77 (@71



77. Question: 3N SHIF IIRTF AT T7 (-

A) Te1fF S
B) @if® STty Sy
C) o1g [

D) fef sy

Answer: B) 91 ST S[7

Explanation: A mode of financing used by the IDB to finance projects in member countries,
particularly its least developed countries. It is interest-free and carries only a service fee
intended to cover the actual costs of administering the loan. Source: www.isdb.org

78. Question: STIFAN A4t -

A) I ST 3 BT & 7 17

B) 563 SIRAIf 8 (5 Foe@a Ny [y g
C) =163 S 8 (TSR s o fAefi7s
D) & Sy 3 (TS s T fersf1ass

Answer: C) S5 SR 8 (e T ey S forsf @<

Explanation: Oder—Neisse Line, Polish—German border devised by the Allied powers at the
end of World War Il, it transferred a large section of German territory to Poland

79. Question: "IENE" -A9 TINoH 13-

A) ETCSTAT
B) SEGIST

C) (o1&

D) SeN@&fT

Answer: B) SRS

Explanation: - AT IS F1HH I IO 3 Aares o8 7=A| - a6 (+1foa F81a
NS (4 3 TREE S 174 - A A0 1% foed Fesf@id | [S35T: fHoie1]

80. Question: TAGHR (FTAGE I 7?2



A) TIETHRY
B) ©1@%
C) &l
D) (S=FaNETH

Answer: D) (53N

Explanation: The ancient city of Jerusalem resonates deeply with three monotheistic religions:
Christianity, Judaism, and Islam. The three religions intersect—and intertwine—in the maze of
streets that run through Jerusalem’s Old City which is referred as the Holy City of Jerusalem.

81. Question: ATGA (FIF (MCTF FYUI“H?

A) 3T
B) FTo1d
C) 83
D) 3@

Answer: C) 8¥«

Explanation: - 9754 : 3ICIAS SP{LIE - SN : SETAF SUTH - (M6 a1 : TS LI -
SIS, SAETFSNET, (6 517 : B eI~ | (Fa: SIS SHGa)

82. Question: NFTAICTA JuIF 71 fF7?

A) T3

B) &
C) "MTT
D) M1

Answer: D) M3

Explanation: - o7 : @R0F Jul - TS : 435l SNHS1F 3Gl - F : AT 3@l - 78S : e,
ST, S, W, e 8 (FIRT@E 3G TR | - (T : 530G 8 (G - 63T (rufiyaa): NETET S5
IE[QIER

83. Question: [SSFT N6 7| FON A6 TIGAT 7F1] S W 7 SAfeferas srpfde 27
(F1II?

A) =T
B) gfFy



C) Afefa
D) SISt (G A1fee AT 2@®

Answer: A) IfSETET

Explanation: 736 1o $a7 2@A®

84. Question: JHGT (AFTA) JeT(e F (IR~

A) 236 T §fe

B) & SN%Ha1a a3 W3W H2F
C) a3f faerTel 51731

D) a6 ffEn (st

Answer: A) 336 SPIES §fe

Explanation: - AFTA a7 <& ASEAN Free Trade Area. - af6 S5 (&G Toiwd 936
NFARTF (B | - {0 TFES T Sdd2 TR b SIM SR - 97 955 (77 dofb | Tos
AT SHITNRG |

85. Question: IARBIHGF @HIF 7T afedTel-

A) W. Wilson

B) H. Wilson

C) Baden Powel
D) Paul Harris

Answer: D) Paul Harris

Explanation: (@61 35PN (@61 IBET o a3, Frgafe 8 (rriAima a6 T
Aft TRNAT 8 CHTAITWE M NS T Y 972 TIRATOTT T T[T AT STRCTS
afefde|

86. Question: @ (T TFTST TSI Ho-
A) BT R T

B) T 71T FARRES X

C) FoTemid SIS

D) STSTTE SIS ST M TS

Answer: D) SToTCIE STRIES 5T AT NS



Explanation: - SATSTRAE AT SRATBIS Fe01 2| - HETF TR (I SRR 933 H0E SRAT 953
NCERRIENGERICH (SRICIR) 0 3INE TFNIS | - TFNIAS * HF@S | I F-TG15NIF 9%
-SRI | IR o FITT A3 NYSFR |

87. Question: SWI® IFF 517 a6 I RFGHEIE-

A) so
B) ¢ ff3r

C) xa f3Ffy
D) So f486a

Answer: C) 9 f&f3

Explanation: s{us® I 5177 So {86 I 10m/atm. (m = meter, atm = atmosphere) 93 (IRY
AT TTg TN B2 ST o (J® TFE 51T 53 IS IST6 WF | B2 FI0-7 CIAg sy
faesTer (316 22|

88. Question: SFECT (I THMT 4T A (WCT BT XX A TSI TR © T

A)3fF-w

B)3fa -

C)3fd-xo

D)3fd- v

Answer: A) 3fF - ©

Explanation: IRCT 419 5TFF RS2 XOTH 2@ TIET REIS ATCT THAX SHAT HT@H T6d 27
$>U9 T BfF-v’ 41T MEHE | 2fF-v 2 ARINEF AT &I ZAFEH 6 T=ifke 936 TH 41+ |

89. Question: @ N (2T (V@ fOF | FIFT ate-

A) A0 49@E AHEF 592F FA 2T@®
B) 9 fATe!¥ %35 (37 FE (73] T@®
C) (FIRI&F (G F41 2@ ®

D) s{ferafere sifasne F1d a@®

Answer: C) (fIRI@ (G F47 2qA®

Explanation: STETE ((R1F S YAfEe SAE F1F AT 2776 (04! $47 28 ©R Af6 Sanaer @y
(A f&F | T© (71T 8 FRHEF 9F16 TP Y IO JN (ST (Mb S 0.3% (A 3.5% FIIT



AT

90. Question: APMoF STICTH T S XTI~

A) RS ST
B) ¥ NEAHRG
C) RS ST
D) fras

Answer: A) TRETE ST

Explanation: J$1es STICE T SATA R | PHMoF STCT 97 I TF Bo% |

91. Question: (NP TANNT FuON Pl T AFIVS A HTT TAAT FE OIS I 23~

A) (o
B) RTh&
C) 919

D) sTafe]

Answer: C) 99 (Anu)
Explanation: « S| X1 (N7 sTa1(d Fuos Fe] I P sare(d @785 7551 $& | I TN
TTAfE RfFTE Srsee FE|

92. Question: 34 (H(OF AT FIFI-

A) P FHS

B) ST =Mfeite o151 eI
C) s *Mfele T OO
D) I F9IRS TOIT

Answer: B) S[ad =fte ©TF {611

Explanation: [T (1o 3{u (Mo I F1 - I FAR| Y TR U SARSNS Mfeld 557
Tl (ofF F@ 93 TR Iy Mfefre o (Gyre/spiral pattern) tofd F&|

93. Question: FT FIF T ICT-

A) ST



B) 15

C)3«

D) =f&

Answer: A) %o

Explanation: FT8 FAE SN & | TS 93F SFT| S35 T39-w1 (I T e e (316 33

94. Question: TY B (I Mfeld FAST-

A) THT IS FE
B) I FIGT IS &
C) (= F15 &
D) fEoeid 19 &

Answer: B) JTGIFIGET 1 F&

Explanation: &) Y3 (I M FNSE Eoera F16 S MHE Jof et Sfe%ewa e
FE JCET ST R (T MR | & 6 T2 A | ASTE 2T (FAANRSAT- (IS, e, ST,
S, T, FAT AR AT | A3 WSfo FGF Ny NACH [ - 17|

95. Question: FTG (SfIT T FIGINT (AT-
A) &

B) RTINS

C) s =G

D) =fer

Answer: B) G

Explanation: (FTNGST A7 T A1 A1 (SiO2) TN F16 AT T S| {1 5956 27 a6
S AT AR TS @diw | S35 e, F99-71 CIfey |

96. Question: FEITBIET LIV Fe(® JI] T3~

A) FFIOTIF o FF 98

B) ©%F (WA 8 ©XF (FF S A0
C) (T i Fuifie AT ANF
D) a7 (N qT FH AFFIAF @

Answer: D) a5 (NS A7 F SAIFFAF @17



Explanation: Software 37 Computer Software 21 %6 Program I1 Computer (F (I@ AT FI@F
FIS FAIF (@ AT (71 Computer fF FaE 932 FoI@ F9@, (7 3T 956 FFS61F Software
I fam T O A |

97. Question: TRFIST©F NETH (I (GIARTSTEST I ARG (M7 T6fe O TREISTS
PR 797 Ao FE-

A) (T SIS & 0@ STae (@4

B) ©f¥ 8 SFETCHINTT T AFeHeTel 2(© O
C) AP ¥3@T HEEF J55 o

D) 8® STIR(GH F&f

Answer: B) Qﬁf 8 AFAETCHINET AET [oHTd (9 A9

Explanation: T35 3% 9tz | STAME (F1F (@16 F30@ MN8N IF| 8@F, fafrmfze a7 s 32
(A (SIIBR FH1 TF@| (P TN (5N HAEA |

98. Question: NEFT (FICIEEE R PO ?

A) 38 (ITTT
B) ¢ (3T
C) ¢ (3181
D) v (31571

Answer: B) 3 (3107

Explanation: - N93(=d AMSfG (FF 2 (GTGT 378G 6 (M@ ATF | - 9 39 (SIST (FEEEER
MET XX (BTG (FITETE I 2T AGIEH | - AGIST (MR AT THTF ST T 3 SfF P11
former Fa, foror fefiaer ama (e S (@2 |

99. Question: (MFEEFF AR M@ ITIRNF FT €I IfW 97 G AF-

A) T=HINF

B) (51&E6T

C) FG1E

D) CBIES oI

Answer: A) TF%INF

Explanation: Solar panels work hard all day producing electricity from the sun. You can



continue benefiting from their energy production after sunset through net metering and solar

battery storage. I3, CEIES G TYF NFE CNAGIES [958 A©S TR F1 7€ |

100. Question: ) Wgfed M1 &I S A A5 2=6-

A) YT FA T
B) &f 23
C)FN ™
D) a%3 2T

Answer: C) ¥4 %

Explanation: a2 T30 Sod (MSITH Tely TYTIR ANAT (Ao T IR T F61 (S
fY@T1 SR (7 AF @A M FSTF (HE: 9F M 936 FPes (MoF 932 FFI6 HToF
@S (THETS ©fb), YT A= |



